MZINEE (2015/5/28)

L (T%) BM P(X =1Y =3)=1, P(X =1Y =4) =
2,V =4) =2, R P(X?+Y?2=10) R E(X2+Y?),

ol

24°

sol: P(X24+Y2=10)=P(X =1,V =3) =1

E(X?4+Y?%) =10x$+17x 1 +13x L +20x & =33

(T%) X BEEMEH, S5 E(X) =3, Var(X) = 2, X E(X?) B E((X + 1)%),

sol: E(X?) =Var(X)+ (E(X))*=2+32=11

E(X+1)2) = E(X242X +1) = B(X2) +2B(X) +1 =18

. (6%) B W =k, k>1, RNEEBEETASMNERER, £ L RERTERNEHE +, 5 p /—RXE
LANRMEBEESEE, Lg=1—p, KREW) & Var(W),

sol: (i)
EW) =300k PW =k =32 k-¢"Ip=p- 332, k-¢"

and Zzo:o qk = ﬁ? So 220:1 k- qk b= (Zk 0d ) _(%) = (1,1(])2

Thus, EW) =p- 332, k="' = p- 2p = &

EWW —1) =32 k(k—1)-¢"'p=pg- >, k(k—1)-¢"

and ) ", k(k—1)-q (Zk 0d") = ((1 1(1)2) {a 2q)
So, E(W?) = E(W(W — 1)+ E(W)) = 4 4
Then Var(W) E(W2) (E<W>>2 = ;27_3 + 119 o # - 1%



